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1 (@) What 1s depository system ? How is depository

system usefu] for investors ? 6

() The rate of return of securities of ABC Ltd and

XYZ Ltd 1n different market conditions is as

-’

follows
Market Probability Rate of Return
Condition ABC Ltd. | XYZ Ltd
Bearish 30' 15% 20%
Normal 30 20% 30%
Bulhsh 40 30% 40%

Find out the expected return and risk (o) for the
secunties of two companies. If an investor invests
Rs 3,00,000 1n ABC Ltd and Rs 2,00,000 in XYZ
Ltd , w‘hat will be the expected return of the

1nvestor ? 9
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(%) FER Joeh F=0 ¥ 7 5w fraven & fou few
WE ST & wad ¥ 2
(@) TaH. fafaes o e aE S fafire = fafim
TR feafedi § wfajfet #1 sfawa R 9 TR

o %
) . \ | afrwe T
o feafa e | et | ewmaE e
fa. far.
Teqawt 30 15% 20%
Bl 30 20% 30%
H@lﬁmﬁ 40 30% 40%

2 ®ufEl w afayfedl W wenfia whrea
iR Nfem (o) I@ Ffw) az F;E FRvEs
2 wad. fafirs § 300,000 7 FRARE @ ¥
IR wrmaRds. fafies # 200,000 5 Frafw
& 8, 7@ Fave & vafm wfea won

BFT ?
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Or

(g

Compare the following investments 1 terms of

return, risk, hqudity and tax shelter 6
() Equity shares

() Non-convertible debentures

(ut) Residential house

) Gold

Mr Gupta makes an investment at Rs 50 The
year end price of thus investment under different

market conditions with equal probabilities as

follows
Condition Year end Price
®Rs)
. Bullish 75
Normal 60
Bearish 45
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() Find out the expected value of return for one

¢

year period and misk (o) of the return

() Also calculate inflation adyusted return if rate

of inflation during the year 1s 8% 9
(%) whrea, faH, W @R W T g A
frafafea faet A gam =T
@ IS TR
@iy SafterHE s
(u) STEEN THFH
@) &ty

(@) st Tar A 50 & W TH FEAW A w fEw
I THR wawdast » Wy fafa=s semr st
§ auf #198 59 TER §

et aufd HAT
? (%)
et 75

S 60
Heaawit 45
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@) TF IH i HOEY & U ufawd =1 v

' Tea iR gfawa &1 Sfem (o) Fa i)

@ =8 % w9 ARk il | 8y ¥, @ wdife
e wowa off siwfam S

2 (@ “Market interest rate and debenture prices are

mversely related ” Comment 6

() V.K Arora s considenng investing in bond currently
selling for Rs 8,785 07 (Eight thousand seven
hundred eighty five and seven paisa) The bond has
four years to maturity, Rs 10,000 face value and
-a 8% coupon rate The next annual interest payment

18 due one year from today The appropnate discount

factor for mnvestment of symilar risk 18 10%

() Calculate the minnsic value of the bond Should

Mrs Arora purchase the bond ?
() Calculate YTM of the bond 9
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(F) ‘=R = € AR HoeR FHiT T wien S9e o
1" feaoht =i

(@) #td W & sur # R w0 # faEr
T @ &, N adu H 8,785 07T (SIS GO W
@ got oln W W) | fow w ¥ Fyow w6t
- Wﬁ;ﬁaﬂémiﬂaﬁ%‘lﬁﬁﬂ&w
. 10,000 ¥ 3R FTA T 8% ¥ !° VW FHH YRH
A § TH 99 9 Wg ¥ 39 WFR @l SfeH
ol e @ fou SUgE SeIERE 10%
7!
@ Sum % gwd qeu qR@faa s w=@
- st slgr wt ¥E Auwd wldE =k 2
@) WU F YTM uiwfom ST
> ) Or |
(areram)

(@ Explain the process of credit rating of debt

instruments adopted by credit rating agencies. 6
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Mr Sachin 1s being offered a scheme 1n winch he
has to deposit Rs 18,250 now which will grve him
year end return of Rs 5:000 for each of next 5
years Should he accept the offer if his required

rate of return 1s
O 10%
G) 12% 9

e fruior sfveon g st T oS
® W fuim F v T Fifsag

ot wfe = T U Ao w1 e fiven & fori
S8 I 18,250 T WHI HUAT BN AR R sy
w&E 5 T A 7 & o F 5,000 3. 1 whaew
e w0 3@ T T AR wX o ARy
I St rifam whre-

@®» 10%

@ 12%.
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’ 3 (@) IDufferentiate between Fundamental analysis and
Techmeal analysis 6

(») .ABC company’s current share price 1s Rs 36 and
its last dividend was Rs 240 If dividends are
expected to grow at a constant rate g, n the
future, and if required rate of return (k) 18 12%,
V\lrhat 1s ABC's expected share price 2 years from

~

now. 9

(%) goym favamst ok st fowaoms 5 fadg
' ?!ﬁﬁrm

(@) TR B B T W FE 36T § AR
foen i 240 T @) A amwEn § @ W
g W ufgm § ofy wafm § ok whaee w6t
oTaferd & (k) 12% ¥, U9 S W 2 9¥ W

TS B TE YW wEG Y ?
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’ -
‘ or
(3rg=m)
- @  Explain in brief ‘Hary-Markowit2’ model of Portfolio
theory 6

(&  The risk and return of the market portfohio are 4%
and 16% respectively The risk free interest rate
18 6% Comment on the efficiency of the following

portfolios and if the investor has appetite for rigk

which portfoho should be selected g9
Portfolio Expected Risk (o)
Return
X 12% 2%
Y 16% 5%
' VA 35% %

(%) dEmfaa faga & ‘& meifaey’ died =t 949
# e wifeg

Read School examination question paper and there solution on howtoexam.com


http://www.howtoexam.com

http://www.howtoexam.com

( 11 ) 6024

(@) R IEETE ® Sifem R wfawe wE 4%

. ®

3 16% §1 Sifem g = & 6% 7)) Frefafea
TR # amar w feoroit wifem afe fEwes
F1 Sifew & # ygfv & @ ¥ e e
= I =Y ?

wemfaat vy wfEn (o)

’ _ wfawer

o 12% 2%
s 16% 5%
T 35% 7%

Explain the Efficient Market Hypothesis and three

forms of market efficiency 6

A company 1s expected to grow at 14% per year
for ‘the next 4 years and then to grow indefimtely
at the rate of 5% The required rate of return on
equity shares 18 12% Assume that the company
'pa1d a dividend of Rs 2 per share last year
Dy = 2). Determine the market price of share
today _ 9
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L]

(%) T TR TEhReTT 3R 96K Tua & €
Y TR HifeT ’

(@) & $O = ™ SR 99 & fau 14% W s
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HH e f& S 3 o a9 2 ¥ Wi IR
D@, = 2 T K= 91 IR F FTER R
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’Or
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(@@ What are the types of mutual fund schemes prevalent
i India ? Gave the details - 6

() The current market price of: a share 13 Rs 105
A call option 18 available for a premium of Rs 3
per share and a put option 18 available for a premum
of Re 2 per share Find out the net pay off of the
option-holder of the call option and put option given
that

(# The strike price in both cases 158 Rs 110, and

() The share price on the exercise day 1s
- Rs 100 or Rs 105 or Rs 110 or Rs 120 or*
Rs 130 9
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(%) wRa # wafea =Es™ Hel ® YHR ¥ § 7

faarn Gfaw)

(@) frdt =R # TG e FT 105 T 1w

®

~

¥R F faw 3 & St W wa feey Swes
% R ot TR W 2 7 B Wifmw w fowa
forpea STes ¥ #9 fagen o fowy fawew
@ fawey-une & fou Yo ager I wig,
afg -

@ <N feafE § wrw w107 %, 3k
@) Fﬁmmﬁéﬁ?ﬁm%mo% =

105% O 110 A1 120F A 130 T oI

Quthne the reforms introduced by SEBI 1n primary

and secondary market in India 6

Mr X considering investment m securities P and

Q whose details are given below :

P Q
Expected return 13% 16%
Rask (stgnda;d deviation) 4% 7%
!
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If a portfohio of 30% of P and 70% of Q 1s formed,

find the

-

(® Expected return of the portfolio

() Mimmum nsk of the portfolio

(i) Maximum nisk of the portfolio 9
yE F wfies R fadmw SR F A9 gw
yafda guri =t :aqi“@ TREA W

st T Frafafes faaroemt sfayfadl ‘9 &ik
' ifwsa R fEamwm e ¥

o L
gy wfawe 13% 16%
. ofEm (AEe faaes) 4% %

I ‘@’ W 30% iR ‘T W 70% F AEEfer
T TN, 99 F@E WY

@ Yo ®t JTow Sifed
() TREEfEE &t sfumaw wifiaw)
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Or

(srga)

(@ What do you mean by securities ombudsman ?
Name some of the grievances for which an investor
can lodge a complaint with the securities

ombudsman 6

() Calculate the price of equity share from the

following | g
Equity share capital (Rs 10 g_ach) Rs 20,00,000
10%) Preference capital i Rs 10,00,000
Retained earnings Rs 5,00,000
. 12% Secured loan Rs 15,00,000
) 14% Unsecured loan Rs 10,00,000
F;xed Assets Rs 30,00,000
’ Investment 1n 6% Govt bonds Rs 8,00,000
Operating Profit N Rs 25,00,000
Tax rate 30%
P/E Ratio l ' 10
’ '
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(F) wfayfa e & o0 #= TAER ¥ 2 ¥ =

~3

fershr 1 Seera i Fors forg FrmT Tfryf
deae % 9w IRaR Sfed T e ¥

(@) f=fafes @ sfadt Y =t =99 ufsfeq

#ifwm

shEdt Y get (10 ¥ 9R IR

10% e gt

wieufa et

12% FEa o

14% ITqfam o '

fer wftmufs
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7§ s
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20,00,000 ®
10,00,000 ®
5,00,000 ®

1:’),00,000 +®
10,00,000 ¥
30,00,000 ©
8,00,000 &

25,00,000 %.
30%

10

7,000
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